H(II)-Philosophy — G-2
2017
PHILOSOPHY — GENERAL
Second Paper
Full Marks — 100

Candidates are required to give their answers in their own words as far as practicable
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The figures in the margin indicate full marks

First Half
(Western Logic)

Answer Question No. 1 and any two questions from the rest, taking one from each unit

1. Answer any four questions :

(a) Explain the difference between a proposition and a propositional
from with an example.

(b) Can Sub-alternation be regarded as real form of opposition ?
Give reasons for your answer.

(¢) What is existential fallacy ?

(d) Is conversion of ‘O’ proposition possible ? Give reasons.

(e) Reduce the following two sentences into standard form
categorical propositions, express them in Boolean notations and represent them
by means of Venn diagrams.

(i)  Only citizens of India can Vote.
(i) Reporters were present.

(f) State the circumstances under which all the following statements

come out as true
(i) A~B
(ii) ~A>oB. .

(g) Distinguish between inclusive ‘or’ and exclusive ‘or’ with
illustrations.

(h) If A and B are true and x and y are false, then what will be the
truth value of

@) ~[-BvA)v(~Av B)]
(i) {A.(B v x)]>[B.(x v y)]

Unit-1

2. (a) Whatis obversion ? Explain the rules of obversion with examples.

(b) What is meant by categorical syllogism ?
(c) What is meant by figure and mood of a syllogism ?

3. (a) Express the following propositions into Boolean notation and
represent then by means of Venn diagram (any twe) :
(i) Everything is beautiful (ii) Nothing is beautiful
(iii) Ghosts exist (iv) Mermaids do not exist.

(b) What is meant by the fallacy of the undistributed middle ? Give
example ?

(c) Test the validity of the following arguments or argument forms
with the help of venn diagram (any two) :
(i) All worldly goods are changeable things, for no worldly
goods are things immaterial and no material things are changeable things.

(i) Some reformers are fanatics, so some idealist are fanatics,
since all reformers are idealists. '

(iii) No unimaginative persons are poets, but some unimaginative
persons are good logicians. Therefore, some good logicians are not poets.
(iv) EIO-4.

Sx4

2+5

2+2

1x2

5x2
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Unit -2
4, (a) Symbolize the following : 3
(i)  Ttis not the case that both India and Pakistan will win the test.

(ii) Ram will come only if Shyam comes.

(b) Use truth table to determine whether the following statement
forms are tautologous self contradictory on contingent : 3+3

i) P=[plpvq)]
(i) [P2(@opl=2lg2q)>~(ror)]

(c) Test the validity of the following arguments forms by Truth-
Table method :

3+3
(i) Pogq (i) (P=q)or
qor ~T
A o § L~((P=q)
5. Explain and examine Mill’s method of agreement. 10+5
Second Half
(Psychology)
Answer Question No. 6 and any two questions from the rest, taking one from each unit
6. Answer any four questions : : S5x4
(a) s pure sensation possible ? Discuss.
(b)  Explain different laws of association.
() What do Gestalt psychologists mean by ‘insight’ ?
(d) Distinguish between the manifest content and the latent content
of dream.
(e) What is meant by the unconscious level of mind ?
(f) What are the factors of memory ? Explain briefly.
(g) What are the primary principles of learning given by Thorndike ?
Explain briefly.
(h) What is meant by ‘figure’ and ‘ground’ in perception ?
Unit-3
7. What is sensation ? What are the attributes of sensation ? Discuss. State
the relation between sensation and perception in this context. 3+6+6
8. What is the nature of consciousness ? What is the difference between
sub-conscious and unconscious levels of mind ? What are the arguments in
favour of the existence of the unconscious ? 2+5+8

Unit -4
9. Explain and examine Pavlov’s Conditioned Response Theory of learning. 10+5

10. What is intelligence ? Discuss the Binet-Simon test of intelligence.
— Explain the limitation of this test. 3+8+4
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